XMVR

HANSAVFLEX

EORZEOBEIERE
| _§:3
#¥O1 BSPHAREL, B sw
BHERX 1 BHELHF i
#o2 KENRLG BT ‘ g | ¥
BEEA2 o4 Ak 9 ] i
GHRE  EHREORREE '“;@f/ﬁgéxrnr
HEBE  SERHELFREERHHRREMNPER) I
ﬁﬂ @-(J - L2 -—

- 1 -
RERP | SE3RE ]
#BR

BRZER. FA, ENAENATHTHERENHATESHERRERNERER,
3 @

RS IfENE G

XMVR 04 LL LL 4 PN 100 G 1/4"-19 M8x1 14,5 27 23,0 19
XMVR NW 04 HL L 6 PN 315 G 1/4" -19 M12x1.5 14,5 29 22,0 19
XMVR NW 06 HL L 8 PN 315 G 1/4" -19 M14x1.5 14,5 29 22,0 19
XMVR NW 08 HL L 10 PN 315 G 1/4"-19 M16x 1.5 14,5 30 23,0 19
XMVR NW 10 HL L 12 PN 315 G 1/4"-19 M18x 1.5 14,5 30 23,0 19
XMVR NW 03 HS S 6 PN 630 G 1/2"-14 M14x1.5 20,0 38 31,0 27
XMVR NW 04 HS S 8 PN 630 G 1/2"-14 M16x1.5 20,0 38 31,0 27
XMVR NW 06 HS S 10 PN 630 G 1/2"-14 M18x1.5 20,0 38 30,5 27
XMVR NW 08 HS S 12 PN 630 G 1/2"-14 M20x 1.5 20,0 38 30,5 27
ZRRFLL=FER =R S=E - PN=FIEEN PB=J|AIEN - 0=EHAER

FREA
XMVR VA [ ) &8 O84S, THH

MVR EAREORISER 5
&4
DKl AFHRLMEHEDR

RELZI T FAFH BB ETEHBRR EERY TTRE X TR BB 15 B BAEAR L AT RIDHE I F Ao
22.07.2025 HANSA-FLEX AG

www.hansa-flex.com 1



